BUA3R, S L

1 Ef|0]|{ Al 22| =, DIN 906

My
THE!:

g AEl = AHQIHA AR 1.4571.

P 4

7 EMH ol2a|:

dd,
£ZF A7 HO|HA ABET UE 2E ATRE AZHE YLIAR
THE or=of Mgt

=M

ES Y

2UAT7 22 A3 EH0|T{ A A=, DIN 906

FEH22E FEHS AHolE A AE D1 C SW
K1129.100810 K1129.200810 M8x1 8
K1129.101010 K1129.201010 M10X1 8
K1129.101215 K1129.201215 M12X1,5 10
K1129.101415 K1129.201415 M14X1,5 10
K1129.101615 K1129.201615 M16X1,5 10
K1129.101015 K1129.201815 M18X1,5 10
K1129.102015 K1129.202015 M20X1,5 10 10
K1129.102215 K1129.202215 M22X1,5 10 10
K1129.102415 K1129.202415 M24X1,5 12 12
K1129.102615 - M26X1,5 12 12
K1129.103015 - M30X1,5 12 17
K1129.103615 - M36X1,5 15 19
K1129.104215 - M42X1,5 18 22
K1129.104815 - M48X1,5 20 24
K1129.10018 K1129.2001815 R1/8 8
K1129.10014 K1129.2001415 R1/4 10
K1129.10038 K1129.2003815 R3/8 10
K1129.10012 K1129.2001215 R1/2 10
K1129.10034 K1129.2003415 R3/4 12
K1129.10100 K1129.2010015 R1 12
K1129.10114 - R11/4 18
K1129.10112 - R11/2 20

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com



Hu

o

Zl

|>

37, SZ 27, H0|m 4] 22]|=, DIN 906

Jn
)
12

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



